Part number: 09121630

Opel Frontera

Opel Frontera Sport ﬂ ﬁ '

1999 —» ‘t
Type: 022581 2480kg 112kg
‘ |
EC 94/20 m Vot
valeur
00-1109 2800 kg 12,00 kN

230x13x6 ﬂ

i M12x1.25x35 |
M12x1.25x80
28

@30x13x6

Page1/6



Part number: 09121630

2x M12x1.25x70 (10.9)

5x M12x1,25x35
1x M12x1.25x90

IxM12 D30:t3x6
3xM12

( 5x M12x1.25

Page2/86



Part number: 09121630

M12x1.25x35

1 _
M12 x 1.25 x 90 M12x1.25x 35

M12x1.25x35

1: M12 x 1.25 x 35 : 87 Nm
2:M12x1.25 x 70 (10.9): 125 Nm

Page 3/6



Part number: 09121630

1: M12 % 1.25 x 35 : 87 Nm

Page4/6



Part number: 09121630

‘lDDUka

Page5/6



Part number: 09121630

Notes :

Page6/6



